Bid #OPN2121326B1 - Passenger Boarding Bridges Replacement

Creation Date Jan 30, 2019

Start Date Sep 29, 2020 3:41:33 PM EDT End Date Jan 20, 2021 2:00:00 PM EST

Awarded Date Not Yet Awarded

OPN2121326B101-01 Bonds and Insurance									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JBT AeroTech Corporation	First Offer - \$178,583.00	1 / lump sum	\$178,583.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
thyssenkrupp Airport Systems	First Offer - \$182,366.00	1 / lump sum	\$182,366.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
AERO BridgeWorks	First Offer - \$352,600.00	1 / lump sum	\$352,600.00	Y	Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OPN2121326B101-02 Mobilization/Demobilization									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AERO BridgeWorks	First Offer - \$423,729.00	1 / lump sum	\$423,729.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
thyssenkrupp Airport Systems	First Offer - \$440,000.00	1 / lump sum	\$440,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
JBT AeroTech Corporation	First Offer - \$833,921.00	1 / lump sum	\$833,921.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OPN2121326B101-03 Maintenance of Traffic									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JBT AeroTech Corporation	First Offer - \$11,765.00	1 / lump sum	\$11,765.00		Y				
		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
thyssenkrupp Airport Systems	First Offer - \$42,900.00	1 / lump sum	\$42,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
AERO BridgeWorks	First Offer - \$54,740.00	1 / lump sum	\$54,740.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OPN2121326B101-04 Survey Layout									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JBT AeroTech Corporation	First Offer - \$19,959.00	1 / lump sum	\$19,959.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
AERO BridgeWorks	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
thyssenkrupp Airport Systems	First Offer - \$66,000.00	1 / lump sum	\$66,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

OPN2121326B101-05 Existing Foundation Structural Integrity Test									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JBT AeroTech Corporation	First Offer - \$819.00	39 / each	\$31,941.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): ۱	N/A					
AERO BridgeWorks	First Offer - \$1,026.00	39 / each	\$40,014.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contra		per contract					
thyssenkrupp Airport Systems	First Offer - \$3,850.00	39 / each	\$150,150.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): N	NA					

OPN2121326B101-06 Demolition and Disposal of Existing Passenger Boarding Bridge									
Supplier	Unit Price	Qty/Unit	Attch.	Docs					
thyssenkrupp Airport Systems	First Offer - \$10,450.00	39 / each	\$407,550.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): NA							
JBT AeroTech Corporation	First Offer - \$27,624.00	39 / each	\$1,077,336.00		Y				
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A							
AERO BridgeWorks	First Offer - \$28,441.00	39 / each	\$1,109,199.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	le: anty Offered (Years): p	per contract					

OPN2121326B101-07 Pre-Conditioned Airs, Ground Power Units and Potable Water Cabinets									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
thyssenkrupp Airport Systems	First Offer - \$987.00	39 / each	\$38,493.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): N	١A					
JBT AeroTech Corporation	First Offer - \$5,322.00	39 / each	\$207,558.00	Y	Y				
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A							
AERO BridgeWorks	First Offer - \$9,520.00	39 / each	\$371,280.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract							

OPN2121326B101-08 Install and Commission Passenger Boarding Bridge (Type A)									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc							
AERO BridgeWorks	First Offer - \$612,282.00	8 / each	\$4,898,256.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract Manufacturer Offered: JBT Model Offered: A3 68/141-125R							
JBT AeroTech Corporation	First Offer - \$644,680.00	8 / each	\$5,157,440.00		Y				
Product Code:		Supplier Product Cod	le:						

	Broward County County Commis	Exhibit 1 Page 3 of 7				
Agency Notes:		1	tes: Warranty Offered (Years): 2 er Offered: JBT AeroTech Corporation red: A3 68/141 125R \$5,431,696.00			
thyssenkrupp Airport Systems	First Offer - \$678,962.00	8 / each	\$5,431,696.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr Manufacturer Offere Model Offered: TB 43.	anty Offered (Years): d: Thyssenkrupp Airpo			

OPN2121326B101-09 Install and Commission Passenger Boarding Bridge (Type B)								
Supplier	Unit Price	Qty/Unit	Attch.	Docs				
AERO BridgeWorks	First Offer - \$602,422.00	6 / each	\$3,614,532.00		Y			
Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract Manufacturer Offered: JBT Model Offered: A3 64/131-125R						
JBT AeroTech Corporation	First Offer - \$643,314.00	6 / each	\$3,859,884.00		Y			
			anty Offered (Years): 2 d: JBT AeroTech Corpor					
thyssenkrupp Airport Systems	First Offer - \$667,721.00	6 / each	\$4,006,326.00		Y			
Agency Notes: Su M			anty Offered (Years): d: Thyssenkrupp Airpo					

OPN2121326B101-10 Install and Commission Passenger Boarding Bridge (Type C)								
Supplier	Unit Price	e Qty/Unit Total Price Attch.						
AERO BridgeWorks	First Offer - \$591,837.00	8 / each	\$4,734,696.00		Y			
Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract Manufacturer Offered: JBT Model Offered: A3 60/119-125R						
JBT AeroTech Corporation	First Offer - \$623,970.00	8 / each	\$4,991,760.00		Y			
Product Code: Agency Notes:		anty Offered (Years): 2 d: JBT AeroTech Corpor						
thyssenkrupp Airport Systems	First Offer - \$663,198.00	8 / each	\$5,305,584.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 1 Manufacturer Offered: Thyssenkrupp Airport Systems Model Offered: TB 37/18-5.3						

OPN2121326B101-11 Install and Commission Passenger Boarding Bridge (Type D)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AERO BridgeWorks	First Offer - \$573,765.00	10 / each	\$5,737,650.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes: Warr	anty Offered (Years):	per contract	:			

-	,	-		r ugo r o	
		Manufacturer Offere Model Offered: A3 58	5		
JBT AeroTech Corporation	First Offer - \$592,848.00	10 / each	\$5,928,480.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 2 Manufacturer Offered: JBT AeroTech Corporation Model Offered: A3 58/110 125R			
thyssenkrupp Airport Systems	First Offer - \$651,382.00	10 / each	\$6,513,820.00		Y
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 1 Manufacturer Offered: thyssenkrupp Airport Systems Model Offered: TB 35/17.5-3			

OPN2121326B101-12 Install and Commission Passenger Boarding Bridge (Type E)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AERO BridgeWorks	First Offer - \$557,809.00	7 / each	\$3,904,663.00		Y		
Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract Manufacturer Offered: JBT Model Offered: A3 53/104-125R					
JBT AeroTech Corporation	First Offer - \$593,385.00	7 / each	\$4,153,695.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 2 Manufacturer Offered: JBT AeroTech Corporation Model Offered: A3 53/104 125R					
thyssenkrupp Airport Systems	First Offer - \$649,120.00	7 / each	\$4,543,840.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 1 Manufacturer Offered: thyssenkrupp Airport Systems Model Offered: TB 31/16-5.3					

OPN2121326B101-13 Installation of Owner-supplied Contractor installed Pre-Condition Air equipment							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AERO BridgeWorks	First Offer - \$4,998.00	39 / each	\$194,922.00		Y		
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract					
thyssenkrupp Airport Systems	First Offer - \$5,170.00	39 / each	\$201,630.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): 1				
JBT AeroTech Corporation	First Offer - \$5,988.00	39 / each	\$233,532.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): N	V/A			

OPN2121326B101-14 Installation of Owner-supplied Contractor installed Ground Power Unit (GPU)						
Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Offer - \$3,451.00	39 / each	\$134,589.00		Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes: Warranty Offered (Years): per contract				
	Unit Price First Offer - \$3,451.00	Unit Price Qty/Unit First Offer - \$3,451.00 39 / each Supplier Product Code	Unit Price Qty/Unit Total Price First Offer - \$3,451.00 39 / each \$134,589.00 Supplier Product Code: \$134,589.00	Unit Price Qty/Unit Total Price Attch. First Offer - \$3,451.00 39 / each \$134,589.00 \$134,589.00 Supplier Product Code:		

Broward County Board of County Commissioners

JBT AeroTech Corporation	First Offer - \$4,658.00) 39 / each	\$181,662.00		Y
		Supplier Product Code:			
Agency Notes:		Supplier Notes: Warranty Offered (Years): N/A			
thyssenkrupp Airport Systems	First Offer - \$5,170.00) 39 / each	\$201,630.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes: Warranty Offered (Years): 1			

OPN2121326B101-15 Installation of Owner-supplied Contractor installed Potable Water Cabinets							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
thyssenkrupp Airport Systems	First Offer - \$1,100.00	39 / each	\$42,900.00		Y		
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): 1					
JBT AeroTech Corporation	First Offer - \$1,267.00	39 / each	\$49,413.00		Y		
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A					
AERO BridgeWorks	First Offer - \$3,570.00	39 / each	\$139,230.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	e: anty Offered (Years): p	per contract			

OPN2121326B101-16 Services related to construction document preparation						
Supplier	Unit Price	e Qty/Unit Total Price Attch.		Docs		
thyssenkrupp Airport Systems	First Offer - \$43,131.00	1 / lump sum	\$43,131.00		Y	
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): NA				
JBT AeroTech Corporation	First Offer - \$49,581.00	1 / lump sum	\$49,581.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A				
AERO BridgeWorks	First Offer - \$273,700.00	1 / lump sum	\$273,700.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr		per contrac	t	

OPN2121326B101-17 Final Testing and Acceptance Coordination							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
thyssenkrupp Airport Systems	First Offer - \$64,350.00	1 / lump sum	\$64,350.00		Y		
		Supplier Product Code: Supplier Notes: Warranty Offered (Years): NA					
JBT AeroTech Corporation	First Offer - \$212,902.00	1 / lump sum	\$212,902.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A					
AERO BridgeWorks	First Offer - \$284,410.00	1 / lump sum	\$284,410.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr		per contrac	t		

OPN2121326B1--01-18 Contractor's Commissioning and Coordination with County Commission Agent

1

	,			i ugo o o	17
	-				
		Supplier Product Code:			
Agency Notes:		Supplier Notes: Warr	anty Offered (Years):	NA	
	First Offer - \$51,893.00				
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: Warranty Offered (Years): N/A			
	First Offer - \$95,200.00				
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: Warr	anty Offered (Years):	per contract	

OPN2121326B101-19 Prepare As-Builts, Record Document, O & M Documentation and Owner Training						
	-					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): N/A				
	First Offer - \$40,460.00)				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered (Years): per contract			:	
	First Offer - \$48,282.00)	\$48,282.00	Y	Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Warr	le: anty Offered (Years):	NA		

Supplier Totals

f AERO Brid	lgeWorks	\$26,448,870.00 (19/19 items)
Bid Contact	Rob Brethauer rob.brethauer@aerobridgeworks.net Ph 770-423-4200	Address 2700 Delk Rd SE, Suite 150 Marietta, GA 30067	
Agency Not	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$1,906,871.86
f JBT AeroT	ech Corporation	\$27,257,641.00 (19/19 items)	
Bid Contact	Suzanne Catalini john.thompson@jbtc.com Ph 801-629-3415	Address 1805 W 2550 S Ogden, UT 84401	
Agency Not	es:	Supplier Notes: H	ead Attch:
Bid Allowance			\$1,906,871.86
f thyssenk	rupp Airport Systems	\$27,752,098.00 (19/19 item	s)
Bid Contact	Linda Kinsel linda.kinsel@thyssenkrupp.com Ph 817-344-7962 Fax 817-834-6985	Address 3201 N. Sylvania Ave. Ste. 117 Fort Worth, TX 76111	
Agency Not	es:	Supplier Notes:	Head

	Broward County Board of County Commissioners	Exhibit 1 Page 7 of 7
		Attch:
Bid Allowance		\$1,906,871.86

**